

الف) $y^r - rx^r = rx - 1$ $y_1^r = rx_1^r + rx_1 - 1$ $y_2^r = rx_2^r + rx_2 - 1$ $\Rightarrow y_1^r = y_2^r \rightarrow y_1 = y_2$ جمع مست

ب) $x \cos y = y \cos x$ $\xrightarrow{x=y}$ $\frac{\pi}{r} \cos y = y \cos \frac{\pi}{r}$ $\rightarrow \frac{\pi}{r} \cos y = 0 \rightarrow \cos y = 0$
 $\sin y = 0 \Rightarrow y = \pm \frac{\pi}{r}$

ج) $x + y = 2\sqrt{xy} \rightarrow x + y - 2\sqrt{xy} = 0 \xrightarrow{(\sqrt{x} - \sqrt{y})^2 = 0} \sqrt{x} = \sqrt{y} \rightarrow x = y$ جمع مست

د) $xy^r + rx - y^r - ry = 0$ $y^r(x - y) + r(x - y) = 0 \rightarrow (x - y)(y^r + r) = 0$ $\rightarrow x - y = 0$ $x = y$ جمع مست

10 $x = y$ جمع مست

12 $f(x) \begin{cases} rx^r - b & ; |x-1| \geq r \\ a + rx & ; -r \leq x \leq 1 \end{cases}$ $\begin{cases} x-1 \geq r \rightarrow x \geq 1+r \\ x-1 \leq -r \rightarrow x \leq 1-r \end{cases}$

15 $rx^r - b = a + rx$ $rx^r - rx = a + b$

17 $-x^r - bx + a$ $\rightarrow -x^r - bx + a \geq 0$
 20 $x^r + bx - a \leq 0$ $\xrightarrow{a+b = -b} rx + a = -b$ $b = -\frac{a}{r}$
 $\xrightarrow{ab = -a} b = -1$ $\xrightarrow{a+b = 1}$

25 $y = \frac{r}{\sqrt{ax^r + bx + c}}$ $\xrightarrow{\text{derivative}} rx + c = 0$ $C = -rx$

$a = 0$ $\Rightarrow x^r + bx - a \leq 0$ $\xrightarrow{ra + c = r|b|} -rx + r|b| = b$
 $b < 0 \leftarrow$ ~~derivative~~

30 الف) $f(x) = \sqrt{\frac{1}{|x| - [x]}}$ $\rightarrow |x| - [x] \neq 0$ $|x| \neq [x] \rightarrow x \in (2^+, \infty)$ (د)

ب) $f(x) = \sqrt{x} + \sqrt{y} = 9$

I. $x \geq 0$ II. $\sqrt{y} = 9 - \sqrt{x} \rightarrow 9 - \sqrt{x} \geq 0 \rightarrow \sqrt{x} \leq 9 \rightarrow x \leq 81$
 إذن $I \cap II = [0, 81]$

الف) $f(x) = \sqrt{\log^{x-1} x}$ I. $x-1 > 0 \rightarrow x > 1 \rightarrow x > \frac{1}{e}$ (4 5)

II. $x > 0 \rightarrow x \neq 1$

III. $\log^{x-1} x \geq 0 \rightarrow (x-1) \geq 0 \rightarrow x-1 > 1 \rightarrow x > 2 \rightarrow x > \frac{2}{e}$
 $\rightarrow x < 1 \rightarrow x-1 < 0 \rightarrow x-1 < -1 \rightarrow x < 0 \rightarrow x < \frac{1}{e}$

$(\frac{1}{e}, \frac{2}{e}] \cup (1, +\infty)$

$\rightarrow f(x) = \log \frac{1}{x + \sqrt{|x|} - |x|} \rightarrow x + \sqrt{|x|} - |x| > 0 \rightarrow \sqrt{|x|} < x \rightarrow x > 0$
 $\frac{-r}{-b+d} \rightarrow -r < x < r \rightarrow -r < \sqrt{|x|} < r$
 $\sqrt{|x|} < r \rightarrow |x| < r^2 \rightarrow -r^2 < x < r^2$

$\frac{rx+r}{a+b} + a \geq \frac{rx+r}{a+b} + a$

$\frac{rx+r+ax+ab}{a+b} \geq \frac{rx+r}{a+b} + a$

$|f(x) - x + 1| \rightarrow f(x) - x + 1 \geq 0 \rightarrow f(x) \geq x - 1 \rightarrow x \geq \frac{1}{e} \rightarrow x-1 > x-1$ (1 20)

$f(x) \begin{cases} x-1 & [x] > \epsilon \rightarrow x \geq d \\ x+r & [x] \leq \epsilon \rightarrow x < d \end{cases}$

$\epsilon x + r \geq x - 1 \rightarrow rx \geq -\frac{r}{e}$

I $\cup$ II $[-\frac{r}{e}, +\infty)$

II $[-\frac{r}{e}, d)$

$y = \frac{rx^r + 4rx^r + 11x + r}{(rx + \epsilon x + 1)^r} = \frac{r(nx^r + rx^r + 4x + 1)}{(rx + 1)^r} = \frac{r(rx + 1)^r}{(rx + 1)^r} = \frac{r}{rx + 1}$ (9)

$rx + 1 \neq 0 \rightarrow rx \neq -1 \rightarrow x \neq -\frac{1}{r} \rightarrow D, R = \mathbb{R} \setminus \{-\frac{1}{r}\}$

$y = \sqrt{1 - \log^{(rx-a)}} \rightarrow 1 - \log^{(rx-a)} \geq 0 \rightarrow \log^{(rx-a)} \leq 1$ (1)

$rx - a > 0 \rightarrow rx > a \rightarrow x > \frac{a}{r}$

$rx - a \leq 1 \rightarrow rx \leq 1 + a$

$(\frac{a}{r}, x \leq (\frac{1+a}{r}))$

$C - b = \frac{1+a}{r} - \frac{a}{r} = \frac{1}{r}$

$x \leq \frac{1+a}{r} \rightarrow x \leq \frac{1+a}{r}$